
Coordinates and Ratios Mark Scheme

1(a) (2 , 3) [1]

1(b) (0 , 0) [1]

1(c) (−0.5 , 0.5) [1]

2(a) (11 , 9) [1]

2(b) (−4.5 , −12) [1]

2(c) (−3 ,−5) [1]

3 5 , 0 and 3 ,−2 [1] Correct coordinates for a square 

1 , 4 and (−1, 2) [1] Correct coordinates for a square 

4(a)
17 − 2 = 15
13 − 4 = 9

[1] Finding difference in 𝑥 𝑎𝑛𝑑 𝑦

15 ×
2

3
= 10 ; 9 ×

2

3
= 6

[1] Use of ratio to find the distance along 

the line

2 + 10 = 12
4 + 6 = 10
(12 , 10)

[1] Correct coordinates

4(b)
−21 − 0 = −21
−25 − 10 = −35

[1] Finding difference in 𝑥 𝑎𝑛𝑑 𝑦

−21 ×
5

7
= −15 ; −35 ×

5

7
= −25

[1] Use of ratio to find the distance along 

the line

0 + −15 = −15
10 + −25 = −15

(−15 ,−15)
[1] Correct coordinates

5(a)

𝐴 −4,−5 , 𝐵 2,4
2 − −4 = 6
4 − −5 = 9

[1]  Distance along the line to 𝐶

6 ×
1

3
= 2 ; 9 ×

1

3
= 3

(−2,−2)
[1] Allow use of graph to find answer. 

5(b)

𝐶 −2,−2 , 𝐵 2,4
𝐶𝑋: 𝑋𝐵 = 1: 3

−2 − 2 = −4 ; −2 − 4 = −6

[1] Use of ratio to find the distance along 

the line

4 ×
1

4
= 1 ; 6 ×

1

4
= 1.5

[1] Use of ratio to find the distance along 

the line

−2 + 1 = −1
−2 + 1.5 = −0.5

(−1 ,−0.5)
[1] Correct coordinates

Turn over ►



6(a)

Change in 𝑥 = +20
Change in 𝑦 = −8

20 ×
3

4
= 15

−9 ×
3

4
=− −6

[1] Distance along the line to 𝐹

(15,−6) [1] Coordinates of 𝐹

6(b) 𝐴𝐺:𝐺𝐹: 𝐹𝐵 = 1: 2: 1 [1] Use of ratio 

6(c)

𝐴 0,0 𝑎𝑛𝑑 𝐹(15,−6)
Change in 𝑥 = +15
Change in 𝑦 = −6

15 ×
1

3
= 5

−6 ×
1

3
= −2

[1] Distance along the line to 𝐺

(5,−2) [1] Coordinates of 𝐺

7 𝑋(5 ,−3) [1] Coordinates of 𝑋

𝑌(1,−7) [1] Coordinates of 𝑌

Crosses 𝑦 − axis at − 8, 𝑦 − intercept 𝑐 = −8 [1] Intercept 

𝑦 = 𝑥 − 8 [1] Correct equation of the line 

8

𝑋 (2,−5) [1] Coordinates of 𝑋

𝑌 (0,−5) [1] Coordinates of 𝑌

𝑍 (2, −9) [1] Shape correctly drawn for final mark. 

END

𝑋

𝑌

𝑍
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